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Topic:- EDU MPHIL A

1) Standardizing Intelligence tests along the normal curve must note the standard deviation. This standard deviation is a
measure of:

ATHTT % & 979 G 7097 FTATARIFI0 FLF G947 ATTF G=9a7 F7 677 § w@AT IR g 9795 fyaaa 7910 ¢ ;
[Question ID = 11477]
1. Difference, as it explains how normal individuals are different/#=% &1, F4if% 7z aarar g & arary =t Fa v amm § ow goe # faw £ [Option 1D

= 45905]
2. Dispersal, as it explains how the score of the sample is spread/w=T™ #T, #4i1% 78 Ta147 & fF ft=sf % st=wf FTow #9718 [Option ID = 45906]
Diagnosis, as it explains who has special learning needs/f=T 1, F4ifF 77 Tarar & & Frfr Ffore wfirmy argeasard & [Option ID = 45907)
4, Deviation, as it explains how individual tests are different from each other/fE=== %1, F4if% 77 Fa1a7 & & =" wew v 507 | &5 9w o= &

[Option ID = 45908)]

Lt

2) An individual’s unique perceptions of the world and experiences is known as:

HHT AT AgAaT & gfa =36 1 777 TG0 FT FETIATAT § :[Question ID = 11478]

. Self awareness /#=q s==a7 [Option 1D = 45909]
Perceptual thought /972 siTA7+=+ f&=17 [Option ID = 45910]
Phenomenal field /AT == [Option ID = 45911]
Existentialism/#f&=r=1= [Option ID = 45912]

.ht.uh.l—-a

3) Given below are two statements:
Statement |: Adolescence is an invention of a technological, industrial society.

Statement Il: Greater the discontinuity between childhood and adulthood and...the greater is the possibility of the absence
of a distinct phase or life stage called adolescence.

In light of the above statements, choose the correct answer from the options given below

T A wFgT R AT g FIT -
| :FRenrTraear wrenfraty, sranfs aurs w7 ofoormw g

FYT - |l : FI99 AT ageFar F 19 F FALawar #1 gt afes 47 @rdt & a9 & afers g wraar Fanrraear aras ggaaqef
IO T A TaT ATeqT H1 Faregfa 1 grdr g

ITLF FIFT @ swerrs A Awiafas et 8§ @ aft gavad

[Question ID = 11479]
1. Both Statement | and Statement Il are correct/=97 | =¥ || =T 7t £

[Option ID = 45913]
2. Both Statement | and Statement Il are incorrect/F9+ | 7 || Z4T =T 2

[Option ID = 45914]
3. Statement | is correct but Statement Il is incorrect/F9= | =7 £ , ﬁqu[ FA9 I THT 2|

[Option ID = 45915]
4, Statement | is incorrect but Statement Il is correct/F99 | 797 2, ﬁnr—rj?“rrr | 751 2

[Option ID = 45916]

4) You are a researcher attempting to simulate Piaget’s clinical interview method of researching cognitive development in
children. Which of the following features are not in agreement with this method?

WY TF MEFAT g AMTATADT B AATATHAD (AFTH B GAT R A9 FA & fog ogre 71 A27fs grares v@fo 1 aqm7ow s
EFT yara FX g ¢ frafafaa & & sta 97 fAdwar go vzfa & agafy 7€ tadt 2[Question ID = 11480]

On the spot hypothesis making and testing and freedom to improvise/Td F=% 7 THFTAT FATH AT THAT F2 T4T I9H G FI4 1 =997 [Option
ID = 45917]

2. Use of objects and manipulands /T3 1 3797 47 39§ 12 972 [Option ID = 45918]

Predetermined questions and sequence of questioning /79 fuifia w7 3fiv 3% T=+ 71 7 [Option ID = 45919]

4. Including probing questions like “How did you do it” or “why questions”/“=T+ 77 & FFFam” a7 “F471 T@T” F9 ATT-TZTT9 F79 a1 TT 1 A0 F797
[Option ID = 45920]

Lad

5) You are interested in examining children’s judgments concerning whether characters on television are real or imaginary.
Is the video image itself alive or can it be separated from what it is supposed to indicate? Which is the most appropriate
method to provide answers to this question.

frfae o fmmd 9+ ar= o1 areafas € a1 srewfaw agv ‘Fyv € FAfEar iy areag § adtg g av o e ardr sty
q AT HATIATAFATR? - T ET I ATHART & AT T TTA FATATEA 8 T TF FT ITLATH 7 & forg waffys sogs

fafyr w7 |7 gref?[Question ID = 11481]
1. Apperception tests/®TaT# A1 T [Option ID = 45921]
2. Unstructured observation/s=7 =7 stg=i1=7 [Option ID = 45922]
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3. Interview with probes/ST=-T29T+ I ATATFI [Option ID = 45923]
4. Error analysis of children’s answers on pen paper questions/@gT g1 foifara wsai  fa7 w0 351 7 {f==7 =1 f=F2r90r [Option ID = 45924]

6) Given below are two statements
Statement |: Validity is a strength of qualitative research and makes it trustworthy, authenticity and credibility.

Statement Il: Validity is based on determining whether findings are accurate from the standpoint of the researcher, the
participant, or the readers of the research. In light of the above statements,

choose the most appropriate answer from the options given below

i A FgafRogac g
FYT - | R GAT TUTHSF 47 FT YU 2, I 7@ w0Oa 4%, grarfors s Fraadig gqrar

F97 - || :Fgar g Faffa 5@ g fAdT sl & 5 e vo e argsaf, afarft sk avy @ ores # gfeao & gdtw 3
ITLF FA91 # srerw 7 Awfafas fAseat 8 @ gt gavgd

[Question ID = 11482]
1. Both Statement | and Statement |l are correct/F== | &% || TAT 7= &

[Option ID = 45925]
2. Both Statement | and Statement Il are incorrect/==7 | &7 || ZH7 To7 2

[Option ID = 45926]
3. Statement | is correct but Statement Il is incorrect/47 | W& & g Faa Il 779 &

[Option ID = 45927]
4, Statement | is incorrect but Statement Il is correct/F97 | =7 & ’i:ah?j Fa9 1l 757 #

[Option ID = 45928

7) According to Vygotsky, the most significant moment in the course of intellectual development is when

HATHICERT & LA, AfE® Fawra & vw § waffors wgeaqof & § I9[Question ID = 11483]

1. language becomes integrated with action /amar =T % &9 waEa 2r 141 2 [Option ID = 45929]

2. children use physical tools for the first time/@g T2l AT WITAF ITFA FT 37407 F724 2 [Option 1D = 45930]

3. humans share elementary psychological processes with animals/#q STHa7] & AT TFaF AATAA1AF THATA 7 T290T 210 £ [Option ID = 45931]
4

. children learn social interaction /=g @At #: Frar = F [Option ID = 45932]

Topic:- EDU MPHIL B

1) Among other things, those in ......... W......... can now think about other people’s thinking and wonder about what other
people think of them. They can also conceive of ideal families, religions and societies of their own experience. They, in a
word, are impatient idealists . Erikson believed that the new interpersonal dimension which emerges during this period has
to do with a sense of ..... Yeeeunns at the positive end and a sense of role confusion at the negative end.

Choose the best option that fills in the blank W

A AR AATAT, TAAAT__ W_ A, I AT M PTAITR AL A ATTCHFTAFS & s r"gd FTHFT & (9 (77 9T
ITR AR A FATHIAT € F 799 A wat & awgef afear<y, a7t shcaaraf at Feqar St svasd § IR v asgd sgraregard
=y ATt § ufEaa FTATAAT ¢ T 59 gty 97 ¢ s daies g 7Hw I €, S AFRTCHAF GrCOUTH H

Y T ATAAT A ARTIHS TR § s w7 Y Araa7 It ¢

o e W St i & forg waf s soge faser g

[Question ID = 11484]
1. Young adulthood/TaT FF97FaT

[Option ID = 45933]
2. Middle childhood/R&T FT=aT9+47

[Option ID = 45934)]
3. Adolescence/feTraraeaT

[Option ID = 45935]
4, Middle age/w=g 97

[Option ID = 45936]

2) Among other things, those in ......... W......... can now think about other people’s thinking and wonder about what other
people think of them. They can also conceive of ideal families, religions and societies of their own experience. They, in a
word, are impatient idealists . Erikson believed that the new interpersonal dimension which emerges during this period has
to do with a sense of .....Y....... at the positive end and a sense of role confusion at the negative end.

Choose the best option that fills in the blank Y

2 T3 sreg &
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F AR AATAT, TATAAT__ W A FATAMATAITD IR A AITLHFTATAT & st r="wd £
ITR AR A FATHIAT ¢ & AU Aaai & awgef ofear<y, aa@t shcauref #t seqar fr svasa § Ife Uy




=y aradfardt § ufeFaa w1171 & ¥ 79 93ty 8 97 av sa e svarw g9ed €, IR gwreren s gfourw F
Y T ATEAT A ARTCHF vheormH § g rswr w7 FF AraAT ANt 2

o s Y 1 ¢fF & forg aaffars sugs e g

[Question ID = 11485]
1. Ego identity/= (%) @femar

[Option ID = 45937]
2. Industry /399

[Option ID = 45938]
3. Intimacy/#r=Hr=TaT

[Option ID = 45939]
4. Generativity/ZTaqmaTar

[Option ID = 45940]

3) A researcher was interested in studying the effect of Computer Assisted Instruction (CAI) on the interest and achievement in
Science of secondary school students. In the research problem selected by her, which of the following statements is true?

uw argsal arsgiys Fraray # Farfdgt 1 faa F s shogvafRy o segez agraar 918 s at (CAL) # I9TT §7T AETYA FLATIATZAT T IFH
srrsafag e aaear  @dq 7 Frafafa d & staarsaaaswd 2

[Question ID = 12381]
1. CAI is the independent variable and achievement in Science is the dependent variable/CAI =77 57 £ 7 fs" § su=f2y wfam =7 &

[Option ID = 49522]
2. Interest in Science and achievement in Science are both independent variables/Fam = 9= B d§ s sH =aa 97 F

[Option ID = 49523]
3. CAI is the independent variable and interest in Science and achievement in Science are the dependent variables. /CAl =ag =7 £ s fasm=

=y it s o sy=fey SEt i 57 §

[Option ID = 49524
4, CAI is the independent variable, interest in Science is the intervening variable and Achievement in Science is the dependent variable./CAI
=aa =7 2, s § = megadt a7 8 o Few § gty am e 2

[Option ID = 49525]

Topic:- EDU MPHIL C

1) A team of Doctors and School Counsellors were interested in studying how the process of puberty unfolds for middle and
senior school students. They wanted to factor in age, gender, geographical location and socio economic status in the
selection of their sample. They also wished to present these as data trends. Since it was a team effort, they wanted to work
with a large representative sample

They prepared three questionnaires: one each for students, teachers and parents which had structured questions with
response options which they were expected to tick if the response applied to them.

The questionnaires were prepared in consultation with experienced persons in the field and then tried out on a small
sample. Changes were incorporated after the tryout wherever ambiguities were identified and all three questionnaires were
finalised.

Consent was obtained in writing from the teachers and parents after explaining to them what the research was about for
their own participation in the study and allowing their children to participate too.

The School Counsellors suggested that along with questionnaires, focused group discussions in some schools should also be
conducted with groups of students to know more about their experience of puberty. This they felt would provide some rich
understanding about the experience of puberty.

Based on the research plan described above, answer the following question.

The most appropriate sampling technique for sample selection is:

rfrcast < Ararey gowmstamarat &1 us ayg few st dtfrac Reragt @ Rrafdat § staaroa 1 afear 51 aeq3w
FIATATZAT AT rqq wivasl a7 # Frewt F awy, oo, atmnfas Rafagt st ararfyrs-arfds frafy w1 eqr9 tgaraws 2
3 T7E AMFEN D TATA S TTH AT Toqq FATATET & 45 78 vF arqfes warw a1 gaforg 3 vw a8 wfafafy =ed & arg w14
FATATET & Irgra o1 waratera! darc &7 - fFFHafday, forast s stfrarast avt @ g vs-us  sad wfafear Rsea
gfggddra aw 2, a4t F1 1978 | a0 Fecany et g adl 1 HEa AT O

T w1y &7 AEYIT &F B gt UM B qwed F 97 Forgr w37 97 37 FET uw e wivgst g swwr odaow frgr war
gt & 17 wgT FET aevear a1 @27 et fay, agf warafaayt & ofady 5@ s+8 o faw w7 fRaraar

Fg aTg fea am & g, ag 9917 & 978 forgst st aPrarast @ fofagagnfoe o e so asmga d ot ssar R wTT o @
gt FTERI FTHT @A AT AT AT Ao @ E

Freareg vowdarardl @ aarg € % warafat & are-ary 178 Rt 7 Rrarfday & aqg # arg 7 ogg =21 4 9 s
F1fR a1f 378 Fraarew 49t Agaal FTATATAT R I=g 97 QT A7 % 78 378 97w F aAywai 1 =<y 997 a1
HFLAT

gfazel 777 #1 qaffars Sugw asdis g
[Question ID = 11494]
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1. Random Sampling/amg==F afa=a+9

[Option ID = 45973]
2. Purposive Sampling/3Zef sfa=ra

[Option ID = 45974]
3. Snowball Sampling/®T&Ta (37T9%) ¥io=a9

[Option ID = 45975]
4. Convenience Sampling /#faar afer=ra=

[Option ID = 45976]

2) A team of Doctors and School Counsellors were interested in studying how the process of puberty unfolds for middle and
senior school students. They wanted to factor in age, gender, geographical location and socio economic status in the
selection of their sample. They also wished to present these as data trends. Since it was a team effort, they wanted to work
with a large representative sample

They prepared three questionnaires: one each for students, teachers and parents which had structured questions with
response options which they were expected to tick if the response applied to them.

The questionnaires were prepared in consultation with experienced persons in the field and then tried out on a small
sample. Changes were incorporated after the tryout wherever ambiguities were identified and all three questionnaires were
finalised.

Consent was obtained in writing from the teachers and parents after explaining to them what the research was about for
their own participation in the study and allowing their children to participate too.

The School Counsellors suggested that along with questionnaires, focused group discussions in some schools should also be
conducted with groups of students to know more about their experience of puberty. This they felt would provide some rich
understanding about the experience of puberty.

Based on the research plan described above, answer the following question.

The process followed for development and finalisation of the questionnaires is called:

fafrcast ot Frarey gowdtararst &1 us ayg fafes st o Rerast # Rrafdat € staarea 1 afear 51 asq3w
HFIATATZAT AT T Fqa wioaed 977 3 F1Iwt 7 anyg, o, shmifos Rafyat st ararfrs-srids Rafy w1 ear9 tgaraws 9
F TR AFET® TATTF STH AT 7eqT FEATIAES & 4% 78 vF aqfegs vara a1 gw9foe & us a8 wfwf~ iy aed & arga s
FATATET & Iegra &7 warafera® FarT 71 - Frarfaay, frast st srfrarast adt # g ow-us  I9d wfafear Reea
afga a<g wa 4, 96T ST 397 § 77 FIC AT Aweqt v agt w7 Heq a7

T wATafrgy &7 AeqTT T B At A4A B qowst | 7 PR AT 97 3T FET uw &2 wfvgel g gwwr ol frgr rar
& F TS TET Fa1 ACTEAT IT §ag feEts faar, a8t waraferay § oigda #¢& =8 sfow &7 fggrrar

gg g frg amt & ¢, ag 7917 & 978 forast b afrarasi @ faggagafe A ri s soasraa A i e wTTa @
EHMTA ATARIFTHTI AR ATT AT FT AqATA I E &

frarreg sowefaTars F @91y € % warafeat & arg-ary 17 gt § Farfdat & aqg & arg a7 awg =91 A1 s
FIFRC AT I9% FraaTeew Ga T AT FIATATAT IS Ivg A7 LT 97 T3 g I78 TTTATEH F (ol #1 F=aff 997 G279
FLAT

yaTafaat $ fFare s o FfRm 73R 1 whrar sgardi & -

[Question ID = 11495]
1. Establishing tool Reliability/3mFor-FErsga=taar sarfia Foa7

[Option ID = 45977
2. Establishing tool Validity/37#¥ur-Fa=T #a1{0H F7AT

[Option ID = 45978]
3. Establishing Generalizability of the tool/3w#+ % arar=fram £ syoar zarfia FA7

[Option ID = 45979]
4. Standardisation of the tool/T9F -RAT=FF7T

[Option ID = 45980]

3) A team of Doctors and School Counsellors were interested in studying how the process of puberty unfolds for middle and
senior school students. They wanted to factor in age, gender, geographical location and socio economic status in the
selection of their sample. They also wished to present these as data trends. Since it was a team effort, they wanted to work
with a large representative sample

They prepared three questionnaires: one each for students, teachers and parents which had structured questions with
response options which they were expected to tick if the response applied to them.

The questionnaires were prepared in consultation with experienced persons in the field and then tried out on a small
sample. Changes were incorporated after the tryout wherever ambiguities were identified and all three questionnaires were
finalised.

Consent was obtained in writing from the teachers and parents after explaining to them what the research was about for
their own participation in the study and allowing their children to participate too.

The School Counsellors suggested that along with questionnaires, focused group discussions in some schools should also be
conducted with groups of students to know more about their experience of puberty. This they felt would provide some rich
understanding about the experience of puberty.

Based on the research plan described above, answer the following question.
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The decision to conduct focus group discussions in some schools along with questionnaires indicates that the study
followed:

Fafrcast s Rramas sewmdamarat &1 us aqg fafew sh &g Rremaat & Rrafaat § staaroa 1 afear 51 aeq3w
FIATATZAT AT F o(q=t Tfazel 977 % F1¢&HT A awy, o, qimrfas Rafaat s ararios-arfds Rafa sreara tgar s 9
4 TR MHET® TATTH TTH AT Teqd HLATATET & 4% T8 TF ar s vara a1 oforg & us a8 wfaf+fy =w=d & ara w4
FATATES & Irgra &1 waratera? dar =71 - fFAafday, forast s afrarast adt @ g ve-us  Iad wfafear fsea
gfggddra o 2, a9t F1 197 & o9 I any Fweat g agt w7 HEa awrAr O v

T IATATAAT T AETTT AT F AT FA1 F g0rwel & Fa7< Forar wam a7 i 57 us e wfoest o sasr véegor frgrrar
gt R 1% wgT FET aevear a1 @27 et fRar, ggf varafaayt § ofads 5@ 58 o fw w7 fRgaraar

ggarg fraat § g, ag a1 & 7% firerwl stc afyrwrasi & frfggagafa St nifsa s ammaa d ot ssar @ 9T & @
EAMTATA AR FTHT AR AT AT AT AqATTI @ E

Freareg gormefararst / gwrg < 0% yamafaat & are-arg 1§37 Rraraat # Rrafdat # aqg # arg a3 ayg 5=t | a1 s
FTiET 1T S7% ITIATCFT ATt AITAT FTATATATTH Ivg @7 BT AT 6 T 378 ITa9EH & A0S FF A=hT THH T
FLAT

waraforal ® 919 £ faaragi & sfeag aqg 991 ararforg £ w71 i g gaiar g 0% 19 stsgga F aq=rar .

[Question ID = 11496]
1. a qualitative approach/I[MTeHF IIHH

[Option ID = 45981]
2. a guantitative approach/ATATHF T99H

[Option ID = 45982
3. a mixed method approach/fafara f&fd summe

[Option ID = 45983]
4. an anecdotal approach/ZIT=T=THF FIT97H

[Option ID = 45984]

4) A team of Doctors and School Counsellors were interested in studying how the process of puberty unfolds for middle and
senior school students. They wanted to factor in age, gender, geographical location and socio economic status in the
selection of their sample. They also wished to present these as data trends. Since it was a team effort, they wanted to work
with a large representative sample

They prepared three questionnaires: one each for students, teachers and parents which had structured questions with
response options which they were expected to tick if the response applied to them.

The questionnaires were prepared in consultation with experienced persons in the field and then tried out on a small
sample. Changes were incorporated after the tryout wherever ambiguities were identified and all three questionnaires were
finalised.

Consent was obtained in writing from the teachers and parents after explaining to them what the research was about for
their own participation in the study and allowing their children to participate too.

The School Counsellors suggested that along with questionnaires, focused group discussions in some schools should also be
conducted with groups of students to know more about their experience of puberty. This they felt would provide some rich
understanding about the experience of puberty.

Based on the research plan described above, answer the following questions.

Suppose the government wished to extend this programme to all CBSE Schools in the country based on soundly established
programme efficacy, then the most appropriate approach would be:

rfecast ot frarey gowdfararst &1 us ayg Hfes st o Remast # frafdat € staareea 1 afear w1 asqgw
FLATATEAT AT 7 Fqa vhoeed 977 # F1Iwt 7 anyg, oo, smifors Rafaat sk ararfrs-arfds Rafy s eqra tgaraws 9
3 T8 AFET D TATA D F7H AT 7oqa FATATED & 4 78 s arqfes warw a1 3uferg & uw a2 gfafafy saed & ara s
FIATATES & Irgra 17 waraferat Fare &Y - Farfay, frasi st sfrarast adt & frg gw-us a7 wfafear st
wfgg a<a v &, 94T ST 398 § o7+ ST AT foweqt v agt &7 eq a7

T wATARrgT ®T AEYIT &F B gt UM B qOwed F 97 Forgr w37 97 3T FET uw e wivgst g swEwr ol frgr A
g e F TS ST Fa1 ACTEAT IT 63 g fewts fagn, agf waraferay § ofiad #¢& v dAfow & frgrrar

Fg aTg fea am & g, ag 9917 & 97 forgst st ot @ fofagagnfoedtrs e so asmga d o ssar R wTT o @
gATIAA FTERI AT AT AR AT AT AT AT R E

Frermag cowdfararar 7 garg & 5 warafaat @ arg-arg 15 Rreragt € Fafday @ aqg @ arg a7 aqg ==t o $F A
F1fRT a1fF 378 Fraarew 494t Aqaal FTATATAT R I=g 97 QT A7 % 78 378 97w § aAywai 1 =<y 997 a1
FLIAT

HTF D a8 FTEHA FT QUATdt eqrioad 1859 F sy 9T 30 F 99T CBSE Frayrergy o« feareIarargdr g 399
fore gaffars sogss sorTe g :

[Question ID = 11497]
1. Undertaking a Comprehensive Programme Evaluation Study/zIT7% FT4FH H079 ALATA FAT

[Option ID = 45985]
2. Obtaining voluntary feedback and suggestions from students and teachers of Navodaya Vidyalayas on a dedicated portal/T = q T T q915T

Frmerr & Frenfi s ot & e g o afaafe o = .
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[Option ID = 45986]
3. Conducting a rapid survey with Navodaya Vidyalaya Schools/7aTea Fam=g % F=m=at a9 =0a 790 F9A7

[Option ID = 45987]
4, Seeking the views of Principals of CBSE schools on a structured Questionnaire/#@+ == warafer nv #t. &t va. £.(CBSE) Fr=rerat & wumm=mat % Fe=re

[Option ID = 45988]

Topic:- EDU MPHIL D

1) The sociological paradigm that focuses on the way inequalities contribute to social differences and perpetuate
differences in power is known as:

oIt gaTwaTE T wiawrT grarhire Afrwarst @ srgaraarst # D s afrsrd d gy arh w3 @ ahsi st g,
I¥ Fgd ¢ :[Question ID = 12145]

Symbolic interactionism/SdTFTwF s=a=aHara= [Option ID = 48578]

Conflict theory/#=7 fFrgT=1 [Option ID = 48579]

Structural-functionalism /#7519 % wF14415 [Option 1D = 48580]

Structuralism/=Z7==1a7% [Option 1D = 48581]

o had P =

2) Moral education for Durkheim consisted of the formation of three elements:

gﬁ# #F gare ATaw fargr 1 IeofRy It a3t & frgo & g€ 8 :[Question ID = 12146]

. Sense of conviction, attachment to religion, and autonomy of will/3z fE=ITs F1 ATaAT, 97 7 7T 7 T=a1971r 1 =raa7 [Option ID = 48582]
2. Sense of discipline, attachment to groups, and autonomy of m{U:-li[ﬂﬂTFr?ﬁ ATHAT, FHET F AT A7 goarei=n F7 Fraraar [Option 1D = 48583]
3. Sense of righteousness, attachment to living beings, and autonomy of will/agre Ft ara=r, sfta arfiat & =T v s=arerf=F $Y AT [Option ID =

48584]
4. Sense of discipline, attachment to God, and autonomy of will/#=erma F1 wraar1, $av & @ara «@iv Tsarwfs Ft =rraar [Option 1D = 48585]

3) Habitus is a mind-set that people from working class background see education . They see that

grivea vt wrafysar § Brad ggare gy fidt v a7 a9t gl # Srv g € O frar A= g fF

[Question ID = 12147]

brings hope; it can transform their lives /=iroT =1t &; o2 S9% Sftas %t 737 @41 & [Option ID = 48586]

brings equality; it can bring social change/@aTar =7t &; 78 At afrads @t & [Option ID = 48587]

is not for the likes of them; other people are very successful/Z=# S5 @Mt % o 78 2; @77 9157 ag7 % 73 € [Option ID = 48588]
brings equal chances; anybody can achieve anything /9T @87 =Tt &; 1% #t =1 %= fr o= T aFa1 & [Option ID = 48589]

Lt B =

4) According to Karl Mannheim, the aims of education are not and . They are
in character.

aﬂ?fl-’rﬁ"m% e forar 3 2w T T8i% T =wAgA____ & [Question ID = 12148]
eternal; unchanging; historical/smmad; AT+ 4; THzTHF [Option ID = 48590]

flexible; static; relative/#=t=; f2%; aTTr [Option ID = 48591]

enduring; infinite; persistent/=q4T; #=; @97 [Option ID = 48592]

eternal; finite; relative/erram; af+f&m; a1 [Option ID = 48593]

-hLHM--*

5) According to Bernstein’s theory, which of the following is not a characteristic of restricted code:

Fa et & fagrea @ sqar Frafafas § ) Y7 a1 gfod fag s #1 Frdwar 7€ € ?[Question ID = 12149]

1. Speech has enormous potential of meanings and carries its own aesthetics. /aT% ¥ & #1379 G £ v TaF7 997 91=4 o= £ [Option ID =

48594]
2. Short phrases with interjections either in the middle or at end of the thought /= =raFater, 5= F=e F weg # 41 7 # FeaaiEaras 27 & [Option

ID = 48595]
3. Complicated syntactic structure with appropriate vocabulary that presents the thought comprehensively/37q srsaTaHT % Ay wtEe arr B o

for=me it B & weaT #94 £ [Option ID = 48596]
4, Common, closely shared set of identification and expectations held by the members. /®=3#ai 1 Tz=1+ #fF srremaf 1 #maT=y v gferg = & 7y £ w1

wgfaaf [Option ID = 48597]

6) According to the feminist critiques of technology, whenever human activities incorporate machines or rigidly prescribed
procedures, the modes of human interaction change. In general, technical arrangements reduce or eliminate

TrE ST #1 ardard sraraaTat # FgETe, a9 € Aaradtg afafFfaat | got=t a7 w3 w0 F Frathoa shrava 1 arfie
frararar g, AT ATAT AR AT R TOR T AR & AU ®T R, TFEATHT FHAEeqTd £ AT T FLAT € :[Question ID =

12150]

Competition/afF=1f=T F1 [Option 1D = 48598]
. Reciprocity/mm=af¥==T #1 [Option ID = 48599]
Rivalry /sfasfaaT %1 [Option ID = 48600]
Dissension/da 4% 1 [Option ID = 48601]

o bl B =

the
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7) For a systematic sampling, if the population size is 480 and the selected sample size is 80, then, wh



sampling interval?

Zaftag yfo=graT & fog, 7% Sadear w1 480 ¢ st agfaa wiwsgw arw1 80 § o« whosaa siawrs #47 grar?[Question ID

=12151]

5/5 [Option ID = 48602]
4/4 [Option 1D = 48603]
3/3 [Option ID = 48604]
6/6 [Option 1D = 48605]

o ld R =

8) Which of the following statement is true?
Statement |: Sampling error increases as we increase the sample size.

Statement Il: Sampling error decreases as we increase the sample size.

Statement lll: Sampling error remains unchanged with respect to the change in the sample size.

Statement IV: Sampling error gets doubled, if sample size is doubled.
fAratwfag s a FTTaTHFgTagre?

|: A T gaviage srFTLasTa g, voaga gfeagardiz

I & Frgwwioasd srwreasa §, vagagfeaesrdre

I : wRrFga e afraaa s d oficada & gaf o srofafiagdi e

v : afg yfa=sga srere s gUar s T ay whmga gfeguAr grardi g

[Question ID = 12152]
1. Statement /599 |

[Option ID = 48606]
2. Statement II/F97 ||

[Option ID = 48607
3. Statement HI/=F= 1l

[Option ID = 48608]
4. Statement IV/F97 IV

[Option ID = 48609]

9) The critical review of a research literature means:

arg g ® HTaTeH® a9 &0 T 79 g:[Question ID = 12153]
Making negative comments about the research. /s & famer & qerren= fromoft 747 [Option ID = 48610]

Finding shortcomings in the research./¢irsr # Ff={ @11 [Option ID = 48612]

e Ll R =

Taking an alternative/opposite position against the research. /¢ & #= § F=fews / Brofta gfsrr so=mar [Option ID = 48611]

Evaluating the research based on the existing research paradigms. /HTS[aT ¢ITel TIEHTAT TF AT 979 7 go47%+ F747 [Option ID = 48613]

10) An Intelligence test was administered to a set of students on two different occasions and it was found that IQ scores of

students on two occasions differed significantly. The variation in the 1Q scores is an indicator that:

fFrrerfaat & o aaga 1 97 9w gga7d o giaata odaw far wav s g grar w37 % =1 < o Franfaat 9

qfgafeg gratsi & 1t o ar gfgafa ymaist & ag ofads gawr 9% & % :[Question ID = 12154]

1. The Intelligence test was not a valid tool to measure 1Q. /qfE e Ffg=fEa w97 7 F9 3797w 727 91 [Option ID = 48614]

The Intelligence test had low reliability. /afz T & fFa=faar 0 47 [Option ID = 48615)

2.
3. Students were not serious while giving the test again./fE=mf fofw 7 wfer &9 & wfer 7= 87 4 [Option ID = 48616]
4

. There were problems in administering the test./T¥ =T & #=Ta" # 79=410 47 [Option ID = 48617]

11) Which of the following is not true for a Dichotomous question?
A. There are only two choices.

B. There are multiple choices.

C. There are open choices.

D. There are closed choices.

Choose the correct answer from the options given below:
oot wr # Rrgfaafafaad @ staaramadiz?
A.3TH Fa9 3T fawea §rd €

B.SHHR HAF [AFeTgIa &

C. 3 H FaFer g 914 &

D. 39" fassordagia &
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1= frg e RFweqi & @ gy savgA

[Question ID = 12155]
1. Aand C only/Fa= A 47 C

[Option ID = 48618]
2. Aand Donly/FaT AT D

[Option ID = 48619]
3. Band C only/#a+ B #i¥ C

[Option ID = 48620]
4, Band Donly/F3a B == D

[Option ID = 48621]

12) What are the key pedagogic concepts of Carl Rogers theory of learner-centered education?
A. An attitude of unconditional acceptance of learners

B. Aiming at opportunities for growth of fully functioning individual

C. Empathy and Trust in learners

D. Assertiveness training for learners.

Choose the correct answer from the options given below:

Frel AT H farardT ffeaa farar & frgrea ¥ e Brararaty sagroond w3182
A. Fararfaat o1 farar o ey Ay srforg

B. aequf €78 frarefiwr F R Y dqfE & aagq frqeg 7147

C. frarfaai @ aegqfv shxsau wdrar

D. fr=rrfoat @ fRro srafear whirgor

19 fyg oy fFrseat & & gt swv g

[Question ID = 12156]
1. A,Band Conly/F37 A, B=iv C

[Option ID = 48622]
2. Aand C only/F=« A 47 C

[Option ID = 48623]
3. A,BandDonly/F39 A, BT D

[Option ID = 48624]
4. Bonly/Fa7B

[Option ID = 48625]

13) Which of the following concepts are important in understanding the dynamics of women’s identity in Erik Erikson’s life-
span development theory?

A. Young girls Identify with their mothers and develop capacity for nurturance.

B. Psycho-sexual identity of women is completed in Intimacy vs. Isolation stage.

C. The source of women's somatic identity lies in her experience of inner space.

D. Women need to be masculine to contribute to the world of work.

Choose the correct answer from the options given below:

ufes tfewas & dtaa w19 fAara frgra & ard aftaar 1 vfadf $1 977 § Fafafaa d @ 1997 dF5eq91d wgeaqof §2
A. Fear et w1 arareey stat |27 R ara AT AT ITH araA- Ty F awar wTAFrA AT
B. S(qXIaT a7 TH AANTE ILCAR AT AT HAFT- T17 T8 A grd1 g

C.ATaF ARF TRITAFTHIT IO HTTAA D AYFT | JaeqTg1aT |

D. AT FTH1F T A FITITT FA & T Owag® AT A7 ¢

= frgwu fFweai & 4 agtsaT g

[Question ID = 12157]
1. Aand D only/F3T AT D

[Option ID = 48626]
2. A, BandDonly/F37 AB 5T D

[Option ID = 48627
3. Band Donly/3= B T D

[Option ID = 48628]
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4. A, BandConly/Fad AB3= C

[Option ID = 48629]

14) Which of the following statements is true with relation to higher and lower needs according to Abraham Maslow:
A. Human needs are organized in form of a hierarchy

B. Lower needs are to be satisfied for higher needs to emerge

C. Only when higher needs emerge can lower needs be satisfied

D. Needs for knowledge and aesthetics are deficiency needs

Choose the correct answer from the options given below:

AATEA AT B ALAXIF AL Aw raegsarali f dau D gaf  Mrafrfaa A a sraarsgaamg ?
A FTHT AALTFATE UF T2T9% 9 § sqafRagg £ a1t

B. I AMILTFATA & IWLA & (o A sraeqFarsi fT g HTATEIAT 2

C. ST IF HALAFATY IATAT §, THT e sraegsard dqEerasdi g

D. AT AT YL ATH T AALIATATE AATT G &1 AALAFATY

= far o Aweai § § g SO :

[Question ID = 12158]

1. Aand B only/#F3 A 57 B

[Option ID = 48630]
2. A, BandDonly/Fa+ AB#7 D

[Option ID = 48631]
3. AandBonly/¥37 A AT B

[Option ID = 48632]
4. Aonly/Fa7 A

[Option ID = 48633]

15) In ethnography, it can be said that the researchers follow inductive approach as they

AFafIarT # dadf ¥ gy Fr AT AFAT 2 O avawaf swwwATeas gfEEw sryATR € FATF F[Question ID = 12159]

1. approach the field with predetermined theories/s&ae & A=A FaTal F @™ o7 &7 § 197 £ [Option ID = 48634]

2. focus on local stories and interpretations. /4TI FATAl 317 =AT=ATAT T €419 #7279 #74 & [Option ID = 48635]

3. define and finalize the research problem in the beginning. /2T FWEAT F7 A9 7 2 9T @7 Ffsa =57 F  [Option 1D = 48636]
4. study in natural settings/Ta= Tf=1 § a7 F9 £ [Option ID = 48637]

16) United Nations General Assembly adopted its Convention on the Rights of Persons with Disabilities on

Y VY AFTAAT 7 srwaarsit g% 2w at # afysrdf @ dafeaa afrawg 1 stra1a1[QuUestion ID = 12160]
1. 13t June, 2006/13 57, 2006 FT [Option ID = 48638]

2. 13t December, 2006/13 f#=7, 2006 FT [Option ID = 48639]

3. 13t June, 2007/13 57, 2007 %7 [Option ID = 48640]

4. 13t December, 2007/13 f&#aw, 2007 7 [Option ID = 48641]

17) Increased access to the curriculum and instruction for all students is done

st farafiat & e arewr=af sy a2 a7 9% 989 F7T TETAT AT HAT § -[Question ID = 12161]

1. Through Universal Design of Learning (UDL)/#a+ % form srdaTa sif9==7 F 3197 [Option ID = 48642]

2. Through accommodation/# s+ 27T [Option ID = 48643]

3. Through differentiated instruction/f&#faT si=or7 317 [Option ID = 48644]

4. By using and providing assistive technology to students with disability/st=raar#i =% F=rfa=T F =0 A219F THAH F7 TTI0T T4 307 g T34 F0F
[Option ID = 48645]

18) Teacher is supposed to follow certain suggestions in the class to create inclusive environment in class for e.g.

Articulate clearly but do not talk louder than usual
Do not exaggerate lip movements

Do not cover your mouth while talking

Repeat information by paraphrasing

Identify the disability

FGTH FATA AT FTATICO AT HFA & T foreqs w7 & ATIT FT 4797 FLAT 7R, IITEAU & o0

o HYAT ITT TIE €T & Fg, AT GTATT @ ATAF AT 7 A
o FI3 L T FLABT-A3T ATYF g99H-
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o AT AHT AYA Hg HT 7 &%
o FFaYTa< (FTTHT) FIT T LIAT IrgTd

HFHAT FT TEATIAC

[Question ID = 12162]
1. Visual impairment/=T&T s&74aT

[Option ID = 48646]
2. Hearing impairment/<au sTaT4T

[Option ID = 48647]
3. Intellectual impairment/a &+ saasar

[Option ID = 48648
4. Learning disability/stfermy sreraar

[Option ID = 48649]

19) An empiricist is one, who

ALATATE 98 €, TI[Question ID = 12163]

1. Accepts all a priori knowledge /Tt ITTATEH( AqAT F7Ter) 519 F1 = Fa1 2 [Option 1D = 48650]

2. Accepts only a posteriori knowledge/Fa= ATHATIT A9 F1 =F7ar =  [Option ID = 48651]

3. Accepts intuition as source of knowledge /@32 %1 19 % &9 % =7 § =Fear ¢ [Option ID = 48652]

4. Accepts that concepts and knowledge are gained independently of sense experience/7g =i#TeaT £ T FFeward 7 19 SHEATwET F T @67 =7 T 95

2 £ [Option ID = 48653]
20) According to Krishna Kumar the pursuit of humanist aims in pedagogy is extremely difficult due to the

TTHHT FT FHATE F ATAT (TATATH & ATATATE! SSIAT HT ATALT AA T FfoT 8 TAHT HTLU g[Question ID = 12164]
. Emphasis on privatising of education and less on excellence/fsrerr % =t o= afé® a9 4w 9=ar o 9 7+ [Option ID = 48654]

1
2. Over emphasis on science education/f&=m firerr 7= «fé= 5 [Option ID = 48655]

3. Narrow spread of education and divisive nature of school structure/firar F7 == waTe siv Ty dv==7 £ v+ 7= [Option ID = 48656]
4

. Attitude of teachers/firs=t £t wfagf=r [Option ID = 48657]
21) Conscientization, a concept in Paulo Friere’s philosophy is about

TTEHH He  ATATE A ATATHCT H 1 ATGTCOT § :[Question ID = 12165]
1. ascertaining the range of experience of the receptive group/TTEr F9g F AW F FIAT 1 qI127 F74T [Option ID = 48658]
2. seeking within the range of experience, the most important fundamental theme /T FEwa 0l AraToaa Eaaeq F1 AFF 1 WAT § 27 A7

[Option ID = 48659]
3. process of arousing new awareness of socio cultural reality and their (oppressed) capacity to transform that reality/@=Tsir-aiegfas areafasar # a1

H STEFRAT 3o Fod it wiEAr ot 3w areatamar w1 gsaq f gt (sefifzat ) awar [Option ID = 48660]
4. developing the power to perceive critically/smar=aTea= Teaeqy F1 o1f=F fE+faT #7771 [Option ID = 48661]

22) In sampling researchers identify a small number of individuals who have the characteristics in which they
are interested. These people are then used as informants to identify, or put the researchers in touch with, others who
qualify for inclusion and these, in turn, identify yet others.

gfrzsfa # ergwaf 0@ g AF/EaT € og=m7 Ut € Hrad v & g € @avat 9 912 g7 97w v
I AR 747 FT 9199 # QLI D TTH JTMGFAl * G9% 7«73 & forg Frgr strar @ o afFafoa 7 1 sgaf w@d €

AT T T 7397 Y 78919 FL § [Question ID = 12166]
. Purposive/3Zsa0 [Option ID = 48662]

Volunteer/=a35a% [Option ID = 48663]

Snowball /TZ7 3% [Option ID = 48664]

Probability/#aTfEaT [Option ID = 48665]

.hl.h.lh-.'l—-h

23) “The family is the linchpin of gender, reproducing it from one generation to the next. As we have seen, family life as
typically practiced in our society is not just, either to women or to children. Moreover, it is not conducive to the rearing of

citizens with a strong sense of justice”.Who said this?

"ghET FeT Tt ararfiraT g, o 59 o g & gudt O & gaecafya sxar g otar e gua 397 8, 9 9979 § srqarc e
gafea arfearfos sftaw afgarsf a1 g7 & oo raraaes adf & T9F F@797, T8 =477 #Y AAGT GAF 1R ATCRFT ® a1 -
T F fog sqga T8 & a8 e $817[Question ID = 12167]

Susan Moller Okin/FaTT HI=7 @1+ [Option ID = 48666]

Uma Chakravarti/ 39T a1 [Option ID = 48667]

Sharmila Rege/rf&=T1 7 [Option ID = 48668]

Friedrich Engels/%=f¥+ tir=7 [Option ID = 48669]

.Lh.lh.l-—-ﬁ

24) Which of the statements is NOT true regarding cluster sampling and stratified sampling?

frefafaa € @ st9-a1 597 158 vivagy d@c wwdga vfogg & grasg § agt adf &2

[Question ID = 12168]
1. All strata are represented in the sample; but only a sub-set of clusters are in the sample. /=m=st # T4t =77 #1 afafa3fam= 2
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F99 IT-AHGT Bl BT &

[Option ID = 48670]
With stratified sampling, the best survey results occur when elements within strata are internally homogeneous. However, with cluster sampling,

the best results occur when elements within clusters are internally heterogeneous. /&fisa fa=ras & watwra adeor gfmms a4t s 219 2 59 =31 &
A7 F 779 AAfrF =7 T 79w g9 F; FAF 1= afaggT § gatay 9t 77 e & 59 1=ar § safifRaaey amat =y i feesy 8 #

[Option ID = 48671]
The formation of strata is natural while the formation of clusters depends on researcher. / =71 FT H9=F TIEAF Z1AT £ T T=a 1 FT T2 ST0FAT

o AT Fear g
[Option ID = 48672)]

The purpose of cluster sampling is cost reduction and increased efficiency and the purpose of stratified sampling is enhanced precision and
population depiction./ == Ya=4= FT TATAT AT H FHI 7 FTGT TAAT BIT & A7 T4 RS TAFT9 FT TITAT Fra9 THEAT AT ATHEAT == 27 2

[Option ID = 48673]

25) Which of the following scales simply denote the categories of data?

frafafaa & & Y7 91 /79T qrATega: arFEt o1 A At F1 gAfdt @2[Question ID = 12169]

Aol B

Ordinal scale/##g=% AT9+1 [Option ID = 48674]
Interval scale/##1e #1971 [Option ID = 48675]
Nominal scale/ATf&= A1+t [Option ID = 48676]

Ratio scale/s g1 HT7T [Option ID = 48677]

26) The most dependable source of estimation of the variability is ................

gfafdar & sgam #1999 frgadia aa & [Question ID = 12170]

1. Average Deviation/#&= f&=r=r= [Option ID = 48678]
2. Standard Deviation/®T+% fa=r= [Option ID = 48679]
3.

4, Range/wf#7 [Option ID = 48681]

Variance/9577 [Option ID = 48680]

27) Which type of correlation method is appropriate if the items on one variable are scored as ‘1’ for correct, ‘0’ for

incorrect and the other variable is continuous?

7y fret us a7 & gead & AT FT A F fore 1 siF e o & 0o s RFrarar g gargEU T gaa g ar 09 # fy
THTT #1 ggda s g fafyr ITgw Frei?[Question ID = 12171]

. Biserial correlation/fgmife @=<iaw [Option ID = 48682]
. Point biserial correlation/fa=3 f2fer+ e [Option ID = 48683]

1
2
3. Tetrachoric correlation/=a= 185 #ZH=4 [Option D = 48684]
4

. Phi-correlation/%TZ #z#=+ [Option ID = 48685]

28) Which test is appropriate to discover whether there are statistically significant differences between the means of two
groups randomly drawn from normally distributed data?

araT=g faafca sfwst & & argfas & fro 73 g1 9qEt & wreat & €t arfeadig €7 & Agayqol Sq< g g7, TE AT &
forw wtw ar aftdgor 3T §?2[Question ID = 12172]

. Wilcoxon test/fE=si=a+ qfverr [Option ID = 48686]
. Mann-Whitney test/#Ta-f=z=+t afvsror [Option ID = 48687)

1
i
3. t-test/Z71- 9¥=w [Option ID = 48688)
4

. F-test/T- qi¥=7 [Option ID = 48689]

29) In a population of 10,000 urban adults, 2000 are post graduates, 3000 are graduates and 5000 have completed twelve
years of schooling. Rocky wants to conduct a survey on this population by drawing out a sample of smaller homogeneous
groups to get an accurate representation of random samples. Which of the following methods of sampling would be the most

suitable for his study?

10,000 arg<t F7EwT #1 sra Tt F, 2000 TLTATTF &, 3000 HTaS § T 5000 7 7L ATH # 1 eAT foeqr wrwy £ g A
Frgfas Tareal &1 9kge vfafafaea vma @ & e g aardi § | g a9 7 gqEf & 77390 F7 AF TS99 FIAT ATEAT
r1ed # fruafafas a0+ 8 & Y7 97393 asag7 & ffrg 998 SULH E11?[Question ID = 12173]

1. Cluster Sampling/i== ufa=g= [Option ID = 48690]

2. Simple Random Sampling/a7 aTgi=2F 9ia==+ [Option ID = 48691]

3. Stratified Random Sampling/=*7 F1gf==F ia=g7 [Option ID = 48692]
4. Snowball Sampling/ ®=Tai= 9f3=79 [Option ID = 48693]

30) Noor Jahan employed an experimental research design to study the effects of lesson plan preparation on student
participation and academic achievement in the classroom. The sample was drawn from three different schools. Identify

which of the following statements is most likely to be true for her research design.

qTorgl 7 w7 H frarfat #1 arfigrd st dférs suafeq w2 ars o=t ffafo & warat 1 95977 $6 F forg s
qLE AT ATwHeT quATAT Fqraet AT AFA-rw At @ forgr vyr 97 AwtHfaw F 9 9w F99 7 ggIa # S 99D Ay -

Ffwrseq 1 Fr9aT & fow a9 afyrs a9dts g | [Question ID = 12174]

1. Lesson plan preparation is an independent variable whereas student achievement is an extraneous variable/TT% Trs=T 7T 7 ERE ‘F*IGFI% d .
collegedunia:s
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Ta=raT #i1 3=f=a 7 a17] 97 ¢ [Option D = 48694]

Lesson plan preparation is based on the inclusion of teacher in the study and hence is a dependent variable where academic achievement and
student participation cannot be controlled by the researcher and hence are independent variables. /€T3 TS FTaAT 9917 F7A7 (90er 7 oo F7
=7 ¥ [Option ID = 48695]

Academic achievement is a dependent variable as it can be measured but student participation cannot be measured and hence is an independent
variable. /drafirs saafey v arfim 57 & Fi6%F =0 a5 o § #fw Fenfdat £ arfiert 51 o 981 57 9991 § 7 29T 98 =59= 97 £ [Option 1D
= 48696]

Lesson plan preparation is an independent variable and academic achievement and student participation is dependent variable. /9T =T FT F97T97
U FEAF 97§ =7 FEntdgy £ derfis 3veiEy @i anfErd srfaa =7 2 [Option ID = 48697]

31) Chi square, Spearman’s rho and Mann-Whitney test are examples of:

FTE TFTAL, TATART F7 T T ArA-feget 2z IgrgTor €[Question ID = 12175]

o e B =

Non parametric tests based on ordinal or nominal scale. /##d=® a1 ATfaa Aot v srerfia sur=fars o % [Option ID = 48698]
Non parametric tests based on interval or ratio scale. /sa7Te IT ST AT F ATGTT 97 Aqr={erF T F [Option ID = 48699]
Parametric tests based on interval or ratio scale./s@T# AT AT HITAT & HATHT 97 YT=H{F T F [Option ID = 48700]
Parametric tests based on ordinal or nominal scale. /F9#= IT ATHT ATTHT 97 AT =% TH=0 F [Option 1D = 48701]

32) Which of the following is the most accurate description of a parameter?

frafafaa & @ o=’ £17998 gdtw a7 22[Question ID = 12176]

1.
2,

3.
4.

A selection of small group that is representative of the population. /T =srardt #1 sfafafas w7 arer =2 79z #71 7797 [Option ID = 48702]

A value, based on a sample statistic, for the population from which the sample is drawn. /=Tasl #ifEgSt 97 A@raria Arar=l 71 0F T8 919 G =
foraT araT & [Option ID = 48703]

A measure based on observations of the characteristics of a sample. /=Tasl it FHerTaATl F AFATHAT 97 ATLTHA TF 7T [Option 1D = 48704]

A calculated estimation about what to expect from the experiment. /TTT 7 F4T STT&T il FAMT, THF AL H TF THFHf=rd AqAT9 [Option ID = 48705]

33) Recognising one’s values and acknowledging them in one’s research is :

et & gt F7 9g=7T AQ U ITE A9 vy F TdHTC FIATQuestion ID = 12177]

1.

2.

3.

a reason for always undertaking experimental research in Education. /férem & WTaTiRrF AHET F94 T FHT UF F1997 727 £ [Option ID = 48706]
a way in which interpretivists address researcher’s bias in qualitative research. /T[UITeHT ATHUTH H 9ITgFAT] F TATTE FT HATTLT F0A HT FTATHIT FT

TF T # [Option ID = 48707)
a manner in which research is conducted within the positivist framework. /TeI= T4 Zi= & AIA7 ATAITT F2 F7 TF T2 047 & [Option ID = 48708]

4. a justification for writing research reports in the third person to appear objective./a+i{=8 Ta1d &4 & =7 5= &9 # o a2 forms =7 sif=ew

ZurTaT £ [Option ID = 48709]

34) The process of corroborating data through interviews, observations and official documents is an example of:

ATATHTLU, FqaTHAT M ATAFTIE qeara st F wreqw & AAFet 71 ¢ F7 F71 wfvar st sargar vega T §[Question
ID = 12178]

o bt B —

Triangulation/frqst #T (ATd7=917) [Option ID = 48710]

Mixed methods research design/fi sy wgfar /9Trar stfa=T1 %7 [Option ID = 48711]
Member check/¥=7 =% ¥T [Option ID = 48712]

Participant research/#=9fT «tgr #71 [Option ID = 48713]

35) 'Towards Equality’, A Report of the Committee on the Status of Women, was submitted to the Ministry of Education of
the Government of India in 1974, It advocated an urgent need to

wfewra 1 Rafa g afufy gror a9 79 v foaid gamaar Fr e 1974 § 973 9 & a7 #4799 § qoqa #7847
THA TF TeR1{AF ATLTFAT F1T THTAT H1, T2 9T [Question ID = 12179]

1.

2.

Recognize women's lives and situations as a legitimate area of ethnographic enquiry. /afg=si & sfraq =iiv afFFafagt w1 qaafEsT aqaea % v g

&9 % =9 ¥ 72979 [Option ID = 48714]
Recognize women's value in the society as a legitimate area of monetary contribution. /FWTs ¥ wiE=Ts & ITAI0ET F7 AT5F TR & TF 99 63 F

=7 ¥ 774919 [Option ID = 48715]
Identify issues in social sciences to address the problem of women’s poverty. /afE=Tat 1 =T 1 T80T 71 57 T4 # o0 AT Femt § 921 #7

sfrs [Option ID = 48716]
Identify issues in social sciences to address the problem of women’s modernity. /®TEaT= #7 smgfaFar £ qaem 1 F=3itaT 79 F & amrs Gt

# #=f #1 wfasr= [Option ID = 48717]

36) Imagine yourself as Henry Giroux and examine the two statements given below from his perspective:

Statement |: It is imperative to examine the ideological and material forces that have contributed to reduce teachers to the
status of specialized technicians within the school bureaucracy.

Statement ll: One of the major threats facing prospective and existing teachers within the public schools is the increasing
development of instrumental ideologies that emphasize a technocratic approach to both teacher preparation and classroom

pedagogy.
In light of the above statements, choose the correct answer from the options given below
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[Question ID = 12180]
1. Statement | is true but Statement Il is false. /97 | =71 &, AT T |l 7oA77 2

[Option ID = 48718]
2. Statement | is false but Statement Il is true./F97 | 739 &, AT T4 || 77 &

[Option ID = 48719]
3. Both Statement | and Statement Il are true and Statement Il is correct explanation of Statement |./#4+ | &7 97 || 291 777 £ @7 Fa7 1| F97 |

TEr =TT

[Option 1D = 48720]
4. Both Statement | and Statement Il are true but Statement Il is not the correct explanation of Statement |./F= | #17 F49= || FHT 777 2, A7 547 1|
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